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Choose the most semantically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

(1] A change by a speaker or writer from one language to another is called ( )

It can take place in a conversation when one speaker uses one language and the

other speaker answers in a different language. The answeris: | [1] |.

1 error analysis
2 language loss
3 code switching
4

guided interview

(2] ( ) are words which refer to a thing, quality, state, or action and which
have meaning when the words are used alone. They are mainly nouns, verbs,
adjectives, and adverbs. The answer is: | [2]

1 Morphemes

2 Content words
3 Function words
4

Formulaic language

(3] ( ) is used for practicing sounds or sentence patterns in a language, based
on guided repetition or practice. It is a technique commonly used in older methods

of language teaching, particularly the audiolingual method. The answeris: | [3] |.
1 Drill

2 Monitoring
3 Articulation

4 Backchanneling

[4] A collection of naturally occurring samples of language which have been collected
and collated for easy access by researchers and materials developers who want to

know how words and other linguistic items are actually used is called a ( ).

The answer is: E .

1 corpus

2 copula

3 curriculum
4

lexical category



Choose the most grammatically appropriate word or phrase from among 1 to 4 in

order to complete each sentence.

(1) The report ( ) out an action plan that includes steps to be taken by every

stakeholder. The answeris: | [5] |.

1 lay
2 lie

3 laid
4 lays

[2] ( ) sisters studied abroad. The answer is: | |6]

—

Both my
My both
Both my of
My both of

= W N

[3] If John ( ) that expensive picture, he would have a lot of money now. The
answer is: | |7
1 wouldn’t buy
2 shouldn’t buy
3 hadn’t bought
4 haven’t bought

(4] Our team won the game ( ). The answer is: .
1 inease
2 of ease
3 toease
4

with ease



3 | Complete each sentence by arranging the words within each {

} bracket. Then
choose the appropriate words to fill in the blanks indicated with numbers, such as

(@ Jor( ® ).

Answer the most appropriate combination from among 1 to 4.

Note that there is an unnecessary word among the choices for each of the sentences.

[1] The US. graduate education system for STEM is widely regarded ( (@ )
( ) (@ ) ( ) the world.
{ the / as / as / in / among / best }

The answer is: .

1 @ best @ among 2 O among @ best
3 @ the @ among 4 @ the @ as
[2]) At this point it is ( ) ( ) (@ ) ( ) ( @ ) theme which has

been developed so far.

{ while / ourselves / the / reminding / worth / of }

The answer is: [ ‘ .

1 @ ourselves @ the 2 @ reminding @ the
3 @ reminding @ of 4 3 of @ while
(3] The teacher’s sensitivity in deciding ( ® ) ( ® ) ( ) i ) ( )

activity to the next is one of the key elements in the lesson.
{ to / when / from / move / us / one }

The answer is: ‘ @ ‘ .

1 ®us ® move 2 ® when ® to

3 ®one ® us 4 ® when ® us

(4] Problem solving involves students working ( @ ) ( ) ( ) ( )
( ) arrive at a solution to a given problem.
{ or /in / pairs / to / groups / a }
The answer is: | 12
1 @a groups 2 @to pairs
3 @a to 4 @ in or



Answer the following questions.

(1] Choose the underlined word from among (D to @ that is incorrect grammatically.

Answer from among 1 to 4. The answer is: ‘

BHFTNELNATVERADT, BBV ELERA,

Adapted from Yudhijit Bhattacharjee,
Celebrating The Year of The Bird (NATIONAL GEOGRAPHIC, March 2018)

1 @ 2 ® 3 0 4 @



(2] Choose the underlined sentence from among (D to @ that is incorrect grammatically.
Answer from among 1 to 4. The answer is: :

BEHFTN/ELATVERADT, BHLV:LEREA,

Adapted from Janissa Delzo, Sweet and Low Frequency (NEWSWEEK, May 4, 2018)

1 @ 2 @ 3 ® 4 @



(3] The following passage has an unnecessary sentence that interrupts the logical

flow of the writing. Choose the unnecessary underlined sentence from among

@ to @. Answer from among 1 to 4. The answer is: .

BEFANELATVELEADT, BBV LEEA,

Adapted from Aryn Baker, These Drones Are Saving Lives (TIME, June 11, 2018)

1 @ 2 ® 3 0 4 @



(4] Choose the most appropriate location from among { A )to{ D } in which

to put the following sentence. Answer from among 1 to 4. The answer is: 5

BRRFANELATVERADT, BRVVLEEA,

BREBHASEONTOLEEADT, BBV ELEEA,

Adapted from Bjorn Hallvard Samset,
How Cleaner Air Changes The Climate (SCIENCE, April 13, 2018)

1T ¢ A ) 2 ( B ) 3 {( C) 4 ( D)



Read the following dialogue and answer the questions on the next page.

BEFANELATVELEADT, BBV LEEA,



BRHFANELATVERADT, BRVVZLEEA,

Adapted from Guy Brook-Hart, Business BENCHMARK (Cambridge University Press, 2006)

[1] Choose the most appropriate sentence from among 1 to 4 in order to fill in the
blank ( (O ). The answer is:
1 I'm not sure there will be.
2 I'm sure the Internet is the best of all.

3 I'm not sure the new technology will change our business.
4 BERFANMGONATVLERADT, BBV ZLEEA,

(2] Choose the statement from among 1 to 4 that is the most consistent in meaning
with the passage. The answer is: :
1 Jane ordered lunch boxes, which she found without having access to the web.
2 Jane wouldn’t meet anybody even if she knew how to contact a database.
3 Jane thinks that a company website should be clear about what it wants to do.
4

Jane thinks that we should wrap and send birthday presents after seeing them.



Read the following passage and answer the questions on page 12. Note that the four

sentences in the m in the passage are randomly arranged for Question [ 1 ].

BEFANELATVEREADT, BBV LEEA,



BEFANELATVELEADT, BBV LEEA,

Adapted from Gardiner Morse, One Company’s Experience with AR
(HARVARD BUSINESS REVIEW, November — December, 2017)



(1] There are four sentences in the wawgwj in the passage. Choose the most

appropriate sentence order from among 1 to 4. The answer is: 3

1" B - A - D —- C
2 B - D —= C — A
3 € A + B -+ D
4 € - B =+ A =+ [

(2] Choose the most appropriate sentence from among 1 to 4 in order to fill in the
blank ( (O ). The answer is: .
1T BRFAV/FELNTVERADOT, BBV EZLEEA,
2 AR can decide what to do and then do it automatically.
3 AR keeps working and all we need to do is just wait until the job is finished.
4

AR and workers have to work together to cooperate in working on a project.

(3] Choose the statement from among 1 to 4 that is the most consistent in meaning

with the passage. The answer is: .

1 One of the most difficult things is to use AR in remote locations because
communications are extremely difficult.

2 When using AR, it is easy to overlook damage done to the equipment, but we
don’t need to do anything even when something is wrong with the job.

3 Large crews are necessary when AR is used on huge ships because it is
difficult to watch over an entire vessel.

4 AR can be used for dangerous jobs, in remote locations, or in situations that

include extremely complex activities in working with products or machines.



Read the following passage and answer the questions on page 16-17.

BEFAUAEONTVWERADT, BV LEEA,



BEFANELATVELEADT, BBV LEEA,



BEHAILAEONTOLEEADT, BBV ZLEEA,

Adapted from Zoltdn Démyei and Ema Ushioda,
Teaching and Researching Motivation (Routledge, 2010)



(1] What kind of value does this student have, according to Eccles and Wigfield’s

value typology ? The answer is: "

I want to learn another language because it will be helpful in reaching

certain goals, such as getting a job, reading a foreign newspaper, or passing an

examination.

BEFALSFONTVEREADNT, BBV :LERA.
integrative value

BRFINELNTVELEADT, BBVEZLEEA.
BEFASAEOATLERADNT, BBV ELEEA,

W o =

[2] Choose one task from below which is suitable to fill in the blank ( A ). The
answer is: .
1 BRFANFLNATVWEREADT, BRUVVZLEEA,
2 telling them that the goal is not important, but the process is.
3 setting a time limit for each activity.
4

offering high-level reading material which they cannot understand.

[3] A teacher has made one of the following statements to students. Choose one
statement from among 1 to 4 which would NOT generate students’ positive
attitudes. The answer is: ;

1 If you want to improve your reading skills, try to read as much as possible, but
you can stop reading if you feel it is boring and change to another book.

2 Each group will write one article for the school’s newspaper. Each group can
decide on the procedure by themselves: what to do, what to write, and how to do it.

3 Memorize all the 20 words in the handout in one week. You must write 10

words a day into your notebook.

4 If you are able to do this role play, you will be able to order a hamburger at a

restaurant in the US.
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»{ 4 Dand{ 5 ) by choosing the most appropriate title from

1

[4] A title for each section is shown below from A to E. Fill in the blanks ¢

2 W¢ 3

among 1 to 9. The answer is: .

€

BEW:-LEEA,

ANELNRTVWERADT,
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1 [1] 1 3 3
[2] 2 2 3
(3] 3 1 3
[4] 4 1 3
2 [1] 5 4 3
[2] 6 1 3
(3] 7 3 3
(4] 8 4 3
3 | [1] 9 2 4
[2] 10 1 4
[3] 11 2 4
[4] 12 4 4
4 [1] 13 2 4
[2] 14 4 4
[3] 15 3 4
[4] 16 2 4
5 [1] 17 4 4
[2] 18 3 4
6 [1] 19 2 4
[2] 20 1 4
[3] 21 4 4
7 [1] 22 3 4
[2] 23 1 4
[3] 24 3 4
(4] 25 8 4
8 [1] 26 - 1
27 1 1
28 1 1
29 - 1
[2] 30 1 1
31 1 1
32 - 1
33 1 1
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